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Note: Four possible answers A, B, C and D to each question are given. The choice which you think

is correct, fill that Bubble in fron of that question with marker or pen ink. Cutting or filling
two or more bubbles will result in zero marks in that questino.

QUESTION NO. 1 ' m

The founder of neo-classical school of thought is: . -V"(}W}—;ﬂf 7 | -1
Pigou & (D) Keynes # (C)  Marshall 50 (B) Adam Smith #741 (A)

e bl ;wb/és’udzmua_wdwd’jw’ 2

Utility of the last unit of a commod|t) consumed is called:

Negative utility ubldj (B) Total utility & GU{

Marginal utility uU’f‘? (D) Positive utility wbled  (©)
Functmnal relationship between price and quantltv demand is: Q.t'la_l,&&u (ﬂ..,ru;lﬂu’oz -3
Positive =4 (D). Increasing &5/‘( Inverse J:G’ (B) . Direct e~lnlz  (A)

The quantity of a commodlt) cxisting in the ware-house is called: -¢dm6’.&Jé.;zr¢(f;f -4
" Utility 26! (D) . Demand o¥ * (C)° Stock 223 (B) Supply s+~ _(A)

The easy application of law of decreasing return is on: .c‘:.t'nJuHJJ?(J’ bf UIb| -5
Trade g2/ (B) . . . Industry 4:.«*": (A)
Agricultﬁrc (=fli D) Housing 4&';,‘“ (C)

A S L gl

The change in total cdst for the production of every new unit is:
" Average cost /bl (B) Total cost J/WJ/ (A)

Marginal cost sz”f‘? (D) ) "~ Variable cost_j/w;.‘” (©)

A monopollst controls the supply of: ' 34.?)!‘_);/’-:"4,«/4;5!;.&1 7

Absolutely nill J'Ugt (D)  MoreestJ (C) Tomlly J‘f (B) Partially 3+  (A)
(e oI/ | -8

A firm is at equilibrium when:

MR=P  =d=dm ® TR=MR &7 =t ()
MR=MC Ae?? =427 O P=MC St =i (©
| Transfer payments are: C U'U'fc’)'du" -2
Salaries Ut1¥  (B) Wages B4l f (A)
uncmployment allowance u) U880z (D) Prices
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The concept of National income was presented by: : :‘5(‘2‘.'”‘7 ¥d.Tys T
Adam Smith 274! (D) Pigou 5& (C) Keynes 72 (B)  Marshall Ji (A) B
The relationship between the value of money and quantity of money is: ‘4~ 7 b’zJ/lﬁmb)ﬁ 1

Increasing (5/..:‘{ (D)  Parallel $J1# (C) Inverse ¥ (B)  Dircct =yl (A)

It is @orc useful in inflation: :ﬁ-t'm.:“'v,l,-l'()‘-'xjy)l 1
Deficit budget 5617 (B) Surplus budget 25 % (A)
Domestic budget _*f;k/f (D) * Balance budget LZ$17 (C)
The phases of trade cycle are: o y _ :uzz..,ui”lﬁ ,E (5,[; 13
| 2 (D) 4 (C) 3 (B) ‘ L (a)
Balance of payments includes: _ :{.and' L'«JLEMU}I? 14
Visible goods ,flflJ/ (B) Visible and Invisible goods f\?lé//:;u'(j/ (A)
¢ Invisible goods f‘;’l"jfff (D). Services =l (C)
: :Q{ifélﬂ!&?b‘ﬁ?&.&w}bﬂ&bI'Jc«fﬁ -15
A branch of economics which deals with income and expenditure.of a government is called:
Permanent Finance ..-:..ULJ‘:/ B) Private Finance ;LJL& (A)
Public Finance O N () People's Finance = WLl (C)
S HERN S
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AINCIPLES OF ECONOMICS| 117 CLASS 1% Annual 2024 J1( st/ B
TIME 2:10 HOURS SUBJECTIVE PART er108 2
TOTAL MARKS: 60 PART -1 Jile - 60 /1) |

2% 6=12 ' o el -z L s (S Bl
Q.No.2 Write short answers to any Six of the following. e e B
What is meant by social welfare in Marshall's definition? ?‘L-Jl/'gc_blﬁd/"b»@.yf&bt (i
¢ ; p & = T b
_Lt‘lgkUV}V—,'rrﬂ"UZLl?-:—CL}I‘PCMJ’LE&UUU)LL&U‘adif‘aﬁ/c_cUid/'"bﬂufM:J’z‘-‘ 2
Acéording to Marshall social welfare means the requisites of well being how they are attairfed and

how they are used. ?c-C‘/J'buﬂ?é(d:L:&(&»Z.'(-“’;:Gldql/d}f" (ii)

[

How does consumer attain equilibrium in law of equal-marginal utility? :
I L Sa e SIS B LGS Qe Lot
| i bsslaf L'f‘;

According to the law of equi-marginal }xlility the consumer distribute his money on the purchast .
different goods in such a way that marginal utility of purchased goods become equal. .
What is difference between demand's extension and rise? S“L“J)yufaz,,lgﬁqu’ (i)
7 ‘ y , . . = k M
A ni».f”ufoéﬁ»?-‘.-“?b:(%KJ&'-‘T—G?‘“‘*"’JJ"‘.‘—GE’”{““‘-’ fesa
-‘atlgl{t-"/.(g-lbc.f;&.lgﬁ.;ulkﬁ'-.’u&;z':’ g
When the price of commodity dccrcages,. its demand increases, it is called extension of defﬂ ani“
the demand for a commodity increases without any change in price it is called rs¢
demand. .

What is meant by Zero utility? P ) : : S‘c‘..;l/lf.:.-uﬁy‘(il‘; |
Sp AP E G-I S e i L figh it s |
"/i’dft;&gd:(b:ﬂé;ud-'#‘d’ ol :

|

The quality attribute or power of fulfilling humpn qesire in an object is called utility- For exam
uenches thirst, bread quenches hunger, light in bulb and writing quality iw |
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what is meant by joint supply? ' i 5
s _ Tg:’/ifcﬂw_f 7 ™)
-? f;!.f:’.','j”ﬂ’fﬁ‘a, -l]_lf J”A’ J ""-l éf : /.
The supply of such commodities wl;i.ch ' d DA i ”7":"‘-{" oy
W& S . are i joi '
T o strawete. ¢ produced together is called joint supply. For example,
mfre/rennaff: :verwign point and Arc elasticity. X ugJ}JJ i3 I . (vi)
- e f "/:n ?‘( _ﬂ,( L";.!? L - -9 —. . 4 v )
v;..———‘g CILAY v-.'-L ,'_'.u’,'c.):rd}} UL?’L;V;J;"'?"I{U”A":L/Lid’ydw!u::’g/" U I 4

- w3l O - %

. - J-g J:,-u_*:'u(xfu'lb(. L-':’fc"'J."'-’.ULu&d:J;q”L(J'J:'X&.EUELIJ;»Eﬁdé

[f there 1S Very small change in demand as a result a very small change in price this type of change in
.:.:n.xand is called ?omt elasticity of demand whereas if there is a sig;xiﬁcant change in prise a'ndvduc
« it the change in demand is also significant then this type of change in de;nand is called arc
clasticity of demand. : = ’

What is meant by normative science? - ?r_;l/U’c,:-cW’H‘ (vii)
{o. /1 Ltayy ARV Y r, Lol e . : i _
v oy UL SR AP SO M, b.ﬁf_«w’u:.ﬂbgﬁf‘cﬂ'ml/c.dl il
e ,L,’b"’-'cv:i-':":Llg’-L,‘K:/.'/T‘é—gal}‘-d(ﬂ:”ﬁcdsug/;ﬂﬁJcégdﬂdbjfi.(g’-

t refers to the science in which situation and events are examined from a particular perspective and it
is decided that they should be like this, for example. There should be happiness instead of poverty,
every individual living in the country should be provided with bread, clothing and accommodations
instead of imperialism, there should be democracy in the society. . »

Define the law of Diminishing Marginal Utility. ?;.;yt_faf“.:snfgiw (viii)
-‘f’L N;"F:’f::kdiéb’u"}; U(:‘- ne t’::Jibul?b_b_fi.’fJ'c_LI:JU’J/LJ-"'L,(/:. ..QJ&& u/ {14

-u_gjd_/ f‘?nwf &)G’;lu_uu?&u,zm&

from an increase in the amount of a goods he possesses
hile as the rest of the issues remain same. It is called the

The incremental utility -a person receives
decrease with each excess of the goods, W
law of Diminishing Marginal Utility. _
Write down four assumptions of law of supply.
Four assumption of law of supply are following:

-:f;J_)f'J"lé.;.'éj/l' 4 oK sl -3 -KJJ_JFJJ’#;JJW -2 _ux;diu,::{d/r?'d/» -1
2. Cost of production should not change
4. Method of production should not change

_Jaktzﬁ:’z,lzué =i/ ERE

y Six of the following. _
Lo PLINDE ()

-é{f&UJf"J&ZPJ@)G (ix)
ur J..'5C'w:ru:/"1l;£y/uﬁs‘ (o

1. Prices of other items should not change
3. There should be no interruption in production

2x6=12 _

Q.No.‘.‘a Write short answers to an
Explain the concept of opportunity costs. ‘
4-& J'_./.,)UJ)JJW’IJ:‘.”J(/I};c.Jtﬁz’ld:?:ff”&dbJC?;.H/:»'/LJ;WJ:[;- 2
‘ -xdufé/ﬂ;i

ert a factor from an exchange use to a specific use

Opportunity costs refer to the amount paid to div
necessarily. :
4 ?f‘..:l/gfr_.:b‘ (i)

What is meant by labour? - . "
c_;xu'f;:uzm-/v-x&'J)Gu.&:wdﬁewﬁ’d‘f?&lf'5‘5"“"'f" Hg JiJulpms? il
et Lt oI

Labour is the second factor of production. Labour refers to the mental or physical effort of 2 human
being which is done for a reward. The teacher's teaching is mental {abour whereas the ploughing of

the farmer is called physical labour. : L
Explain the concept of marginal retdrn. _é_,,u,&ﬁé‘)/bfo’ (iii) -

&;}é{l}_/,{l&bl{;k‘gG;fJ‘bc.-Lf&:/.’éb/lf’lj_g&lﬂ,ﬁ;i!f(/.‘fg‘@. :wl/c_.d:’;?:‘? 4
’ -:;'—Jlk@:’:-”q.t‘ﬁju|1;’(ﬁu:d:'1gfa’;_/

fers to the amount that firm eans from selling an excess unit of its production

Marginal revenue re r
ditional unit of production are called

or the amount by which total is increased by selling an ad
marginal return.
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.Wlnal is meant by variable costs? Tc-)'/&rc.u/bf’ (w,
f&(/&:ﬁrﬁ)l,ﬂ};»'u‘/_ba/ﬁb&&/L;l:lyulu*z_r..ﬂ’f‘afl/ﬁ/'ﬂ"d’/"'l’?ujblfét iz
s o e T oS Mol JJIQ”,'I/#//)U“;&/L;/(K‘I// WIA ST VNV

_./,erfuJdtrbwf'Juu»/muw

Such factors which are related to the amount of production and increase with the increage ()f
production and decreases with the decrease of pmductlon are called variable cost. If the busiriegs ¢
the firm has stopped temporarily i.c its production is zero then such factors are also zero, p,
example, wages of temporary workers, cost of raw materials, electricity bills ctc

What is meant by law of increasing costs? ?4-’/ e wf‘fq’j ()

vibd Uiz /Jbidqju'(‘fj_dbdf u,ly("’u":_.tr.fﬁd’bﬂuybfsﬁw,, "
g e I S

When the producuon process is undcr the law of diminishing returns, i.c. the marginal produc
decreases, then the marginal cost per unit increase. That is why the 1aw of diminishing retumns i

1 lled law :
also called law ofmcrmsmg cost. - ?:-_:/b"c—UJ’:'LffJLJW}; (vi)

What is meant by ﬁrm s equilibrium under perfect composnlon"
Ut et Fur SN P A B2y e e iy
When all the firms in the industry are earning normal profit, it is called industry equilibrium.
Explain the concept of Normal Loss. -c‘:wbstf/r"ﬁuhﬂdr‘” (m)
b(ul.:'i:.ﬁ’ {KJ:W,::_W....—-Z 9. J)f (}"Jﬁ){(ﬁb{_‘bwygﬂ’fu’a S d//d../!..)/W:f”t_ir/ 4
..u‘{:uwdr‘"fuw Ua.d/._/l:/u'.,u‘

A firm is meeting its variable cost and partially meeting fixed cost when pomon of fixed cost
incurred as a loss of it bears then this loss is called normal loss.
Write four functions of cntrepreneur. ’ ' Jw‘jijJ’ (nu

SE s 4 sl ek 3t LY 2 LB el

1. Managing the business 2. Developing a business outline
3. Paying compensation to other factors 4. Factors joint production

What is meant by vertical mobility of Labour? ?c-J/b(c_-(fjl._)’]d;fJ:} (ix)
J‘/._/Ald’JZ..J)ubc.—h/llid’)L/)[L)JA’J(L&—:)JG/KJM/U’(/L6/}-._/(/6)/{/(_,! 4
-Ldﬂfd/),._,f]d”fd/_)'tf

Vertical mobility of Iabour refers to the movement of a worker from a lower-level job t02
higher-level job due to promotion or for any other reason is called vertical mobility of labour.

2:% 6= 12 Jutly/f.f_,fﬂe’_a.df

Q.No 4 Write short answers to any Six of the following.

Explain the concept of National Income. -CI{UEPI)’KGJ’U” i
(/bu(vtyh‘/’d‘//ﬁ’u,JU‘""/‘J"/’L}/J)LU ,Lu'J""'/"”/’LJMJ&/LL}’JL/;/ U
-GGA‘UJJ_GJIJJL/,.,r»

Accordm;, to professor Marshall, the people of a counlry usc their natural resources to pro uce
goods and services every year, this is the national income of (hat country,

Write methods to measure national income, p&)ﬁcf'k,tfdi'd” (ii)
JI)KCI’ -3 .p!)b/ljl), 2 J’)b/d.&’ 1 ;_‘/'fz
1. Income Method 2 Method of Production 3 [ ixpenditure Me.t.l d
. o 10 "
Write Fisher's equation ofexchan;,c Gyre //,/ (inl %
‘ 2%
: { o
_MV:MZ

,I./

A
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;\'ri(“ four effects of deflation, -éuk:,!}u&&,;g A (iv)
Sul,j.'dzfjud. -4 u{ufd,ﬁ -3 urcj:u;gd/al.é:lf' -2 Ju.'./;’(fd_u S B 4
_ The devaltion of money 2. Decrease in prices of goods and services
Decrease in income 4, Incrcace in unemployment
\fake a diagram of the phases of trade cycle. -c_&('zﬁﬂb’ﬁulﬁ/z ¢ W
' Y,
5-'_- el e/ dineS
& AW AT
o\ = \A
Uiy Uiy ‘ '
: 0 =
W [l .
write four assumptions of comparative cost theory. -JQQJ/JELJJW&G.;:){ (vi)
- 3 . -
.’_.t'o...f.l.’.-blz'IVCuUac_qlLf/JJ/ -2 . _f_Jir‘J&’J‘uJb’u'JUu/u -1 2

Zials nLJ‘,J’/uu;._J. PR Py </ udytdﬂfb//uw:_ SooliTesly -3
1. There is perfect employment in both countries. :
1. " Every country has its own currency but there is freely exchange between them.
3. Trade is free and there is no restriction imposed on it.
4.- Transportation costs are not incursed on the goods at the time of import and export.

Write four causes of deficit balance of payments. 40 M/lfﬁdliul (F blglit?  (vii)
:.'Fu’:d:LT -4 d:)fjjé}/_:u(u)/ -3 (fgﬁ.;«u by -2 . D’Jau (RS B

1. Increase in exports 2. Decrease in imports

3. Devaluation of currency 4. Control on population )

What is meant by Tax? ?LJ/Lfc-Lfa (\iii)

_Ldb"fz‘_ﬁ,bUZ:u:';’(bu;’L.dbd/Lfﬂ:ulpulf.:/ﬁiafbld}ll&’.f‘jg -

Atax is a compulsory payment made to the government for the services it provides for the

benefit of the common people. :
Write four points of economical importance of Zakat. . -Jom!:é&ﬂdb‘yr‘iﬁ (ix)
-¢9dx;w(fJ;J,; -2 - blon Kb -1 el
& t'n..?L‘vb/d/E'Ju_L. -4 - Hgﬂjuf\:/;/. F -
I. Concentration of wealth would have ended. 2. Distribution of wealth is fair.
3. Poverty ends. 4. Unemployment ends.
(Part - I (12.4>)
Ixg=24 -é//ul'f‘CVU'fJLJJ(C-L:.A’J (RO

NOTE: Attempt any Three questions from this part ) .
éwbja.dﬂ}?dgz"_‘}.:«?b‘g SUEY
Is Economics a Science or Art? Explain it with arguments.
YR
'6"" rL

?c,rn/,vuf)wlb’uf/ 5.:, l/r:lmlz._ﬂrfwl.ngfwb/@)ﬁ'

Fxpl.un the law of increasing returns with schedule and diagram. Also discuss its

application.
-ég&’UJJUJ’;Lr/lﬂd-{»}ﬁ&dmulgl e “
EXplain the firm's equilibrium under monopoly in short run.
-Z::.:.«JJ&J&U:&JJLG‘:,/" i
Explain the Quantity Theory of money with the help of an example. o
iu’b)k{»—’/b"&@y)’éullfd“’mu m@

Explam the international trade theory of comparative cost.
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